with(Student[ VectorCalculus]) :

F := (X,Y, z) = VectorField( (y-exp(X-y)-cos(x-z) —z-exp(X-y)-sin(x-z), X-exp(X-y) -cos(x
_ ‘2), 1 —x-exp(x-y)-sin(x-z))) :

> Linelnt(F(x, y, z), Path( (3-cos(t), 6- (sin(t))? 5-t), t=0..2-Pi), output = plot, pathoptions

= [color = blue], vectoroptions = [color = green], fieldoptions = [color = red, fieldstrength
=fixed(0.6), arrows = SLIM], axes = boxed, orientation = [45, 65]);

Linelnt(F(x, y, z), Path( (3-cos(t), 6 (sin(t))3 5-t),t=0..2-Pi), output = integral ) ;
Linelnt(F(x, y, z), Path( (3-cos(t), 6- (sin(t))% 5-t), t=0..2-Pi) );
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> simplify(ScalarPotential (F(x, y, 2)));
i e/*cos(xz) +z (2)
> f=(xYy,2)—>(2):




> f(3,0,10-Pi) —f(3,0,0);

] 10w 3)
B Linelnt(F(x, y, z), Path((3, 0, 10-Pi-t), t=0..1), output = integral);
Linelnt(F(x, y, z), Path((3,0, 10-Pi-ty,t=0..1));
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